Breaking Even Activity

You are an accountant for the Flower Garden Company.  The owner, Daisy Bloom, has asked you to assist her in determining how many weed wackers does she need to sell in order to break even if the price is set at $14.00.

One way that companies determine the minimum price is through breakeven analysis.  The breakeven point is the quantity of a product that must be sold for total revenues to match total costs at a specific price.  The breakeven point is calculated using the following information:

· Fixed costs:
The costs to the business that do not change no matter what quantity of the product produced or sold.

· Variable costs:
Those costs that are directly related to the quantity of the product produced or sold.

· Total costs:
Fixed costs plus variable costs for a specific quantity of the product.

· Product price:
Price at which the business plans to sell the product.

· Total revenue:
The anticipated quantity that will be sold multiplied by the product price.

The formula for finding the breakeven point is:

Breakeven Point 
=
________Total Fixed Cost____

Price–Variable Costs per Unit

Utilizing the Breakeven Analysis Chart, Daisy Bloom must determine the number of units she can sell at a set price of $14.00 to breakeven.

Further calculate other possible prices to determine the relationships between prices, costs and demand.

Be prepared to discuss your findings with the class.

